M L @66mm Rotating/Flashing/Strobe Beacons

l"l lr'l

l'l

Order Information

N EF - o -

R
—|_ Lens Colors
R Red
Y Yellow
G Green
B Blue
Power Supply
. 01 DC 12V
S | 02 DC 24V
Flashing 10 AC 110V
Lights
20 AC 220V
Strobe 10 AC 110V
Lights 20 AC 220V
Light Style
Rotating Light
F Steady & Flashing Light
Strobe Light
with Xenon Bulb
[ Mounting |
G Stud Mount
P Pole Mount

Optional Orders

Replacement Parts

MAB-T15-S-012-08 12V DC, 8 Watt
MAB-T15-S-024-08 24V DC, 8 Watt
Bulb MAB-T15-S-130-08 110V AC, 8 Watt
MAB-T15-S-240-08 220V AC, 8 Watt
Xenon Bulb | MAB-STROBE-110-06 110/220V AC, 6 Watt
Lens LENS-MLG-(0) Smooth Lens for Rotating Lights
LENS-MLGF/S-(o) Prism Lens for Flashing/Strobe Lights

(o): indicates color of Lens; R, Y, Gor B

Wall Mount Brackets

B
N e AL

_—

MAM-DS26

MAP-DS30-BLK (Black)
MAP-DS30-BGE (Beige)

NOTE: See Page 14 for Dimensions.

XENON
BULB

e Incandescent or Xenon type
e Red, Yellow, Green and Blue lens available
e Smooth or Prism lens
e Stud or Pole mounted
e Wide range of power supply
Specifications
Model MLG/MLP MLGF/MLPF MLGS/MLPS
Bulb Type Incandescent Xenon
Power Supply 12VDC, 24VDC, 110VAC, 220VAC | 110VAC, 220VAC
Current 12VDC 0.7A, 8W —
Draw 24VDC 0.3A, 8W —
& 110VAC 0.07A, 8W 0.22A, 6W
Wattage ["550vaC 0.03A, 8W 0.11A, 6W
Rotation Rate 130 times/minute —
Flashing rate — 80 times/minute
Dimensions ,
unit: mm
66
/\ Stud Mount Hole Layout
I
©
- 3-M4 Bolt
ﬂﬂ—ﬂ—ﬂ—ﬂ g
@A
"\ 3-M4 Bot
Wiring Diagram
I Rotating & Strobe Lights
MLG-ooo-0 MLGS-ooo-o i
MLP-ooo-o MLPS-ooo-o i
| EXTERNAL
| CONTACT
- =)
T3 POWER
Black | >SUPPLY
—— Q-0 =00
FUSE ©
EXTERNAL
I Flashing Lights 1 conmet
Light: Red
MLGF-ooo-o0 MLPF-ooo-o
FLASHING
Black A STEADY g
@ ) POWER
White | SUPPLY
——————O0——0=0—20
FUSE (53]

Amerimation, Inc.

Tel. 847-388-7189 Fax: 847-388-7194

17



Accessories

Mounting Poles

MAP-0022
MAP-0240
MAP-0750
MAP-1000

MAP-M043 .

b

Threaded Poles

MAP-M240
MAP-M750

— L]

<

M20

T <
o %
<
i M20 nut U120

NPT Adaptor
MAP-N033
] j

Model L (mm)
MAP-0022 22
MAP-0240 240
e MAP-0750 750
| I MAP-1000 1000
Mounting Bases
MAM-B070 MAM-B070D

¢

Pole @20

10|
/ i ol @

N
)

Wall Mount Brackets

922

MAM-DS25 a
- 2 3
32
v
2-99
MAM-DS26
— = #
==

IS
I
10

.40 |

14

M20 nut NPT 1/2
H Model L (mm)
MAP-M240 240
MAP-M750 750
MAM-B090 MAM-B070R MAM-DS23-20
&,

Pole @20

)
)
<

255

MAP-DS30

MAM-DS27

4-955

4-953 290
& lfc':}h

MAP-DS40

55.5
i
g L1}

)
~
]

84.5

‘30 13

30 4-M5 Screw
50
8- 953 276
MAM-DS28
056
Tord/ 2
= 8
o 100
70
40 | ©
PR
i / 2
4-55x6.5




